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QUESTION 1

What kinds of transceivers are supported on Orchestrator MHO-1407?
A. SFP, QSFP, QSFP28

B. SFP+, SFP28, QSFP

C. SFP, SFP+, SFP28

D. SFP, SFP+, QSFP, QSFP28

Correct Answer: C

QUESTION 2

Multiple SGs can exist in a Dual Site environment. Each SG can be configured in one of three ways. Which is not one of
those ways?

A. Two MHOs connected to two MHOs via load balancers.

B. Two MHOs at same site connected to remote site MHOs via two different switches.
C. Two MHOs at same site connected to remote site MHOSs via single switch.

D. Direct connectivity between Remote Site MHOs.

Correct Answer: A

QUESTION 3

What Maestro component acts as a load balancer and network switch?
A. Security Switching Module (SSM)

B. Maestro Hyperscale Orchestrator (MHO)

C. Security Group (SG)

D. Security Gateway Module (SGM)

Correct Answer: B

QUESTION 4
What does the lldpctl command do?

A. Show all devices discovered by LLDP protocol on downlink ports
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B. Show all devices discovered by LLDP protocol on all ports
C. Discover orchestrators
D. Show all devices discovered by LLDP protocol on uplink ports

Correct Answer: B

QUESTION 5

What does asg monitor command do?

A. This command does not exist

B. Monitor health status of entire system

C. Monitor traffic on Appliances in Security Group

D. Show real-time cluster status of Appliances in Security Group

Correct Answer: D
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